Data Path : Z:\SVOASRV\HPCHEM1\BNA_E\DATA\BE081018\

Quantitation Report (QT Reviewed)
Data File : BE097270.D
Acqg On : 10 Aug 2018 20:06 Instrument :
Operator : SJ/JU ?ZII\!A_ItES ol
- - lentosampleld :
a?ch:le : J4385-02 OUTFALL001-180807
ALS Vial : 6 Sample Multiplier: 1

Quant Time: Aug 10 23:18:10 2018

Quant Method : Z:\SVOASRV\HPCHEM1\BNA_E\METHODS\8270-SIM-BE072418_M
Quant Title : ASP BNA STANDARDS FOR 5 POINT CALIBRATION

QLast Update : Tue Jul 31 10:49:28 2018

Response via : Initial Calibration

Internal Standards R.T. Qlon Response Conc Units Dev(Min)
1) 1,4-Dichlorobenzene-d4 7.39 152 1020 0.40 ng 0.00
7) Naphthalene-d8 10.15 136 5017 0.40 ng 0.00

13) Acenaphthene-d10 14.01 164 2997 0.40 ng 0.00
19) Phenanthrene-d10 16.77 188 7158 0.40 ng 0.00

27) Chrysene-di12 20.98 240 6943 0.40 ng 0.00

34) Perylene-di12 23.22 264 7220 0.40 ng 0.00

System Monitoring Compounds
4) 2-Fluorophenol 5.06 112 587 0.20 ng 0.01
5) Phenol-d6 6.61 99 500 0.12 ng 0.01
8) Nitrobenzene-d5 8.53 82 2108 0.48 ng 0.01

11) 2-Methylnaphthalene-d10 11.73 152 3213 0.43 ng 0.00
14) 2,4,6-Tribromophenol 15.52 330 420 0.43 ng 0.00
15) 2-Fluorobiphenyl 12.63 172 5789 0.56 ng 0.00

25) Fluoranthene-d10 18.81 212 33327 0.47 ng 0.00

29) Terphenyl-dl14 19.43 244 6185 0.46 ng 0.00

Target Compounds Qvalue
9) Naphthalene 10.19 128 1400 0.031 ng # 85

32) Bis(2-ethylhexyl)phthalate 20.92 149 4030 0.223 ng # 99

(#) = qualifier out of range (m) = manual integration (+) = signals summed
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Abundance TIC: BE097270.D
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